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RHYTHM
S1 Blues UnitWorksheet 2

 

Time 
signature


 

=  4 beats

=  3 beats

bar line


 =  1 beat

=  2 beats

repeat signs



 =  1 beat

=  1/2 beat
REMEMBER: the top number
of the time signature tells you
how many beats are in each bar.

final bar line

Task 1: Count the number of beats in the bar for the following.


There are           beats in the bar.

              


There are           beats in the bar.

        


There are           beats in the bar.

         


Task 2: Add ONE note where you see the       to complete the bar.

 


   
 

 


  



 

    
 





    

 


Task 3: Add the missing bar lines to the following.

        
            


